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Quick Factor completely.
Check
6.3.7 90m? —19m — 90

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

100

CA. 90m? - 19m —-90= I (Factor completely.)
{(OB. The polynomial is prime.

@ac%ﬁwss Aot %Tc, we. A0 /

2,48 , | |
=100 -0 L, BWO

3,30 Qo A8l
P ) . N . -
O) & A I 7 ;T SR IREITICE D\} oSO

P i ; thw T : - " p |~ S
fD g 'S I T, W )" O)C;? 20
a (o IR e

/ ; .
. , i

F S ) l\ 8:5%

r——
~

((ax — ) oer 20 |

checle - |00+ B =19

9o
'v()\’k_,
2 G Yo
g o

Page 1



/
/

T, es1s T A1yt

Quick Factor the trinomial completely using the trial and error method.
Check
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6.3.35 Factor completely.
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. 6.3.35 Factor completely.
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6.3.43 Factor the trinomial completely.
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6.3.85 Factor.

25¢%+29c+9

Select the correct choice below and fill in any answer boxes within your choice.

A 25c2+29¢+9 =

%5, The expression is prime.
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